TABRBIOSYD (W

Hold down clamp (Horizontal handle)

FILiEEY)

HOLD DOWN ACTION

B 75V 7RNY RILEE

Hold down clamp (Horizontal handle)

No.HH150/HH150-25

-

0.27kN (27kef}

2sa/258 (U9

AF—Ib (Steel)
A7 LA (Stainless steel)

Bt F i mounting 75w ¥AN=2 (Flange base)

AF—NETFNFAO-FEN b+ (Nylon Bolt) M4
21 1E AT LAETIFRASUSHEIL+ (Hex
Head Stainless Bolt) M4x 20 14

Fu bk (Nut) 248

No.HH250/HH250-25

Steel Model:
Nylon Bolt M4x21
Stainless Model:

17 4SLOTS-4.4%6.8

15.9

Hex Head Stainless Bolt M4x20

3.2

(10)

Stainless t=1.5

- R

BED we city 0.27kN (27kgf)

308/30g (SUS)

HANDLE MOVE T70°

e Z2F—J (Steel)
E A7 L2 (Stainless steel)

BT mounting methed 752U ~N—2Z (Flange base}

RAF—EFIFLO-FENE (Nylon Bolt) M4
X211 1F AT LAETFAIFRASUSEL (Hex
Head Stainless Bolt) M4x20 14

Fwb (Nut) 2{8/EE® (Washer) 24%

No.HH350/HH350-25

Steel Model:

Nylon Bolt M4x21
Stainless Model:
Hex Head Stainless

4.4x6.8-4SLOTS

g (2
| <
—
24
15:5' |
Bolt M4x20 1y

Stainless t=1.5

o2 1

0.9kN (90kef)

ECTESR 125105 (suS

ZF =) (Steel)
A7 L2 (Stainless steel)

753 ~—2 (Flange base)
AF—NEFITLTFEILF (Neoprene Spindle)
MBx37 1. AF A LAETF N TLFAT A LAFN

I (Neoprene Stainless Spindle) MGx37 14
Fw b (Nut) 2/8/EE€ (Washer) 24

5.2X6-4SLOTS

35.6

29

2F
=0
7
Tx
=]




